22600 ETA-4/5 ARTICULATING LOW HEADROOM END TRUCK

DESCRIPTION

STOCK
REF.| CODE
1 20100

2 59810M
3 60025
4 52445
5 60030
6 53060
7 54180
8 25640
9 52440
10 59980
11 25515
12 51820
13 53321
14 56161
15 51770
16 25336
17 53410
18 51281

ETA-4/5 Short Body Load Trolley
402 Mach. Flat LL Casting
ETA-4/5 Low Head. ET Load Bar
M12x1.75 Prevailing Torque Nut
ETA-4/5 Low Head. ET Block
1/2 SAE Flat Washer

3/16 x 1 1/4 Spring Pin

ETA-4 Safety Cable

M10x1.5 Prevailing Torque Nut
ETA-5 Inner Stop

ETA-4/5 Splice Bar Assembly
M12x1.75 x 70mm HHB
TWA1220 Thin Washer

TC1220 Thrust Bearing

M10x1.5 x 120mm HHB

ETA-4/5 Low Head. ET Weld.
3/4" FIW F436 P A325

3/4-10 x 2 3/4" A325 Bolt

QUANTITY

2

PRPRRPANAEARARRPPRPAENRFPORLBAEADNDN

© Copyright 2014, Unified Industries, Inc. All Rights Reserved. WWW.unified-ind.com

16



